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A B (mm)]| C (mm)| D (mm) E F
AO1 1002 380 16 1 1|1
A02 1002 400 16 1 1|1
A03 781 380 16 1 1|1
AO4 781 380 16 1 1|1
A05 781 360 16 1 1|1
A10 476 350 16 1 1|1
A20 476 360 16 1 1|1
A31 791 489 3 1 1|1
A32 791 489 3 1 1|1
A41 496 792 16 1 1|1
A43 496 394 16 1 1|1
AD1 446 353 3 2 1|1
AS2 496 195 16 1 1|1
AS3 496 195 16 1 1|1
AT1 436 81 16 2 1|1
WQ1 350 96 12 2 1|1
wQ2 350 96 12 2 1|1

3/14









\. 6/14







8/14

t




A05

9/14

(===

ST




13

A02

A03

VO
&

A32

10/ 14

A3l




11714

M6
XSJ













